14, H4E v = arctan(3x + 1) &ﬁ[ﬂ%} Vi slEs iR )
15. BRHM(x) = o' — 6o By 98 148 W X 1] 24y
16. [(3x + 2sin )dx =

i f e'de =

1838 4(-1,2,3) BSER 54 =112 o LRy

19. 7 y' +1Iny -+ =0FEH (1, I}irﬁ‘éﬁiﬁﬁﬁi%ﬁﬁvﬂxhﬂﬂﬁ SR

x=1

20.EE8D={(z,y) 1 1l =sx=2,1sy=+| BlFEY
EREHE21-288,#70 4, ﬂ%ﬁﬁﬂdi#ﬁﬂﬂﬁﬂﬂﬂﬁﬁimﬁ!a
21. (8 43)

1 - cos x —

o e
22, (8 41)

EREH f(x) = e"cos xR f"(T).
23. (8 4})

ﬁﬁj;jmdx.
24, (8 41)

i [« sin xde.

25. (8 41)

R TR Y -y - 2y = 0 B5EMR
26. (10 431)

REFER y = 2° - 30" + 22 + 1 MY X (7] 515 4.
27. (10 43)

MR A(x) = 3 — FEIFAL(x — 1) MR, SR FCCHUC ol
28. (10 41)
EHESD=|(z,9) 1 2 +y" =1,0 =< vy = x| 18 [| xydxdy.
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